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Mac
ノート注釈
This is the first of the reading questions.  These are the short passages.  Each passage is around 100~200 characters.  You will have one question per passage.  

The question will usually be about one fact in the passage.  Read carefully for tricks, for example one sentence might change the meaning of another so be sure to read each sentence and not just hunt for the information.

There are 4 of these questions on the test (4 passages with 4 questions each)

Try to give yourself around 3 minutes for each of these.  So about 12 minutes total on the real exam and this workbook.
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Mac
ノート注釈
These are the medium passage questions.  The passage is around 450 characters.  There is only one passage with four questions.  Read the questions first before going into the passage so you know what you are looking for.  Don't read the answers though.

There are 4 questions on the real exam. (4 questions, one passage)

Give yourself around 12 minutes total for this workbook and the real test.
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Mac
ノート注釈
This is the two information retrieval question on the test.  Be sure to read the question and any extra information than scan the piece of information for the correct answer.  You definitely don't need to read everything in this section.  Do look out for restrictions and limitations that might change the answer though.

This exam is exactly like the test, both have 2 questions and 1 passage.

Give yourself about 10 minutes to answer these questions (or much less).  This should be fairly easy to answer quickly, so it is typically a good place to make up for lost time.
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